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The block graph on the right shows the number of children 

in Class 1 who ~ 

 Walk to school 

 Come to school on a bus 

 Come to school in a car 

 Cycle to school 

 

1.  Looking at the block graph, fill in this table 
 

 

 

 

 

 

 

 

2. How many more children walk to school than 

1) Ride their cycles? …………………….. 

2) Come by car? …………………….. 

3) Come by bus? …………………….. 

 

3.  There are three times as many children who 

    ……………… than who ……………… to school 

 

4.  Find the total number of children in the class. 

    Answer: ……………… 

 

5.  The table below gives a count of how the children  

     in Class 2 come to school. 

 

 
 

 

 

 

 

Using the table for Class, 2 please fill in the information on the blank block graph 

on the next page.  Let one square stand for one child. 

 

Now answer questions 2 and 4 above from your own graph:              

2.       1).……………  2). ……………   3)……………      

4.……………   

Walk Bus Cycle Car 

Children in Class 1  

Walk Bus Cycle Car 

18 4 7 0 

Children in Class 2  
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